
18 = 3 x 6

Multiplication from Pictures

1. Complete the calculation. 4. Identify the odd one out.

Explain how you know.

2. Match each picture to the correct 

calculation.

5. Tommy has written a calculation to 

match the cars.

Is he correct? Explain why.

3. Complete the equal groups to solve the 

calculation.

6. Holly has 15 flowers. She wants to put 

an equal amount in each vase.

How many flowers could she use? 

Find 3 possible answers and write the 

multiplications.
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Multiplication from Pictures – Year 2
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5 x 2 = 10

2 x 6 = 12

2 x 3 = 6
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8 = 4 x 2



Multiplication from Pictures

1. 3 x 3 = 9

2. A. 2 x 3 = 6; B. 5 x 2 = 10

3. 2 balls to be added to group B; 3 balls to be added to group C; 3 x 8 = 24

4. D is the odd one out because the groups are not equal. There are 3 groups of 2 and 1 

group of 3.

5. Tommy is correct. There are 3 equal groups with 6 cars in each group, which totals 18.

6. Various answers, for example: Two flowers in each vase (3 x 2 = 6); three flowers in 

each vase (3 x 3 = 9); five flowers in each vase (3 x 5 = 15)
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Multiplication from Pictures  ANSWERS


